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2 X B E E A W 500 500 0
2 H & B 4,100, 000 4,100, 000 0
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2 B 5 E ) 100, 000 100, 000 0
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& # & 50, 000 50, 000 0
i # % & # 2,333, 000 1,120, 000 1,213,000
& 5 & i # 275, 000 255, 000 20, 000
& # # 15, 000 15, 000 0
ER i ] & # 1,126, 000 1, 350, 000 ~224, 000
H = i # 284, 000 75, 000 209, 000
S 5 & & 4 172,000 20, 000 152, 000
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K E # # 75, 000 75, 000 0
= B i & 4 213, 000 210, 000 3,000
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5 & B = & 50, 000 50, 000 0
% h F = # 76, 000 22, 500 53, 500
# B z & 20, 000 10, 000 10, 000
#t # 20, 000 20, 000 0
= = # 1, 790, 000 1,788, 250 1,750
& 8 ## B 210, 000 210, 000 0
# 5 F 2 325, 000 325, 000 0
= I B 4 # 51,000 51,000 0
& # & 10, 000 10, 000 0
i # % & # 800, 000 800, 000 0
& 5 & i # 25, 000 25, 000 0
& f& & 5,000 5, 000 0
ER i ] & # 50, 000 50, 000 0
b f f #0 # 69, 000 69, 000 0
H 7 2 # 25, 000 25, 000 0
= 35 g & # 5,000 5, 000 0
K E] # # 25, 000 25, 000 0
= B i & f 4 71,000 70, 000 1,000
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3 it 7 20, 000 20, 000 0
= & = & 7 0 0 0
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1 i N B3 20, 000 20, 000 0
X h = & 10, 000 10, 000 0
M £ 0 0 0
BREERH 9, 328, 000 1,121,000 2,207, 000
Sl 8 3 F AR AT S R R G R =21, 000 -20, 000 -7,000
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(1) fEERE 0 0 0
BESMLEE 0 0 0
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BENERG 0 0 0
LR E S MEREE 0 0 0
LA —ARIERRBAEE IR IBAR =21, 000 -20, 000 -7,000
—RIERMEHEES 500, 000 1,908, 564 -1, 408, 564
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ZEREHEMFE (XK ZRIER) 495, 500, 000 500, 000, 000 -4, 500, 000
LHAYE TE IE WK BA EE IR IBAR 495, 500, 000 500, 000, 000 -4, 500, 000
EEEKRMEHREES 4, 500, 000 3,442,183 1,057, 817
EEIERMEHRES 500, 000, 000 503, 442, 183 -3,442,183
M ERBHEHRRES 500, 473, 000 505, 330, 747 -4,857, 7417
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(1) %R |
£ A B E E B W A 500 500 500 0
% 5] & & 3,075,000 1,025,000 4,100, 000 4,100, 000 0
2 B & B «C B A ) 750,000 250,000 1,000, 000 1,000, 000 0
2 B & B ( ® ) 75,000 25, 000 100, 000 100, 000 0
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% 3] & 1t & 3,900,000 1,300,000 5, 200, 000 3,000, 000 2,200, 000
- iz % i & 3,900,000{ 1,300,000 5, 200, 000 3,000, 000 2,200, 000
# i} #* 375 125 500 500 0
T B B & B W M A 375, 125 500 500 0
EEIasE 6,975,875 2,325,125 9,301, 000 7,101, 000 2,200, 000
Q) BEEm
= ES & 7,538,000 7,538, 000 5,332, 750 2,205, 250
& g % B 630, 000 630, 000 630, 000 0
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X # * # & 75,000 75, 000 75, 000 0
S i b1 & # 213,000 213, 000 210, 000 3,000
Y — Z 1 244,000 244, 000 182, 250 61, 750
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& # E £ % 51, 000 51, 000 51, 000 0
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o i 1 # % 69, 000 69, 000 69, 000 0
B = & & 25, 000 25, 000 25, 000 0
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K # * # & 25, 000 25, 000 25, 000 0
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